


Solve the literal equation 3𝑦 + 4𝑥 = 9 for 𝑦.



Solve the literal equation for y.
2𝑥 − 2𝑦 = 5



Solve the literal equation for y.
20 = 8𝑥 + 4𝑦



Solve the literal equation for x.
𝑦 = 5𝑥 − 4𝑥



Solve the literal equation for x.
2𝑥 + 𝑘𝑥 = 𝑚



Solve the literal equation for x.
𝑦 = 3𝑥 + 5𝑥𝑧



Solve the literal equation for x.
3 + 5𝑥 − 𝑘𝑥 = 𝑦





The formula for the surface area S of a rectangular 
prism is 𝑆 = 2ℓ𝑤 + 2ℓℎ + 2𝑤ℎ. Solve the 
formula for the length ℓ.



If 𝑆 = 171𝑖𝑛2 and 𝑤 = 3𝑖𝑛 and ℎ = 4𝑖𝑛, what is the 
value of 𝑙.



You own a rectangular lot that is 500 feet deep. It has 
an area of 100,000 square feet. To pay for a new 
water system, you are assessed $5.50 per foot of lot 
frontage. How much are you assessed for the new 
water system?


